AR — R EYR R LSS B RICH T2 ERRSH = ERR
HFE . HORIBA PA—1000

EHH: FRH28FE3H822H (X)

BfsI: uSv/h

o= g1 s (k) g2 (BR4k) FE3M A ()
AlES 5cm 100cm 5cm 100cm 5cm 100cm
BIEBFZ 14:59 15:01 14:50 14:52 14:45 14:47
HBIEE 0.097 0.082 0.081 0.084 0.062 0.075
AIE L 0.001 -0.006 -0.009 -0.015 -0.005 -0.004

= FEath s (Rm) FE5ihm (F) Foth = (FERED)
AlES 5cm 100cm 5cm 100cm 5cm 100cm
I E BRI 14:38 14:40 14:32 14:34 14:28 14:30
BIEE 0.082 0.073 0.102 0.074 0.134 0.106
AIEl L -0.012 -0.018 0.000 -0.003 -0.017 -0.011

h & F7Hh = (FEREQ) S8t = (T (IEFT)) Lo (B (EE))
AES 5cm 100cm 5cm 100cm 5cm 100cm
B 7 B2 14:25 14:27 14:18 14:20 15:10 15:12
BIEE 0.142 0.099 0.158 0.095 0.104 0.083
ATELE -0.008 0.000 -0.015 -0.026 0.008 -0.004

EA:EH284F3A158 (X)

ENEEih X — i EEMR R LS GEIRERICE T ERBARENERR

#3E . HORIBA PA—1000

BA{SI: y Sv/h

o= F 1= (k) Fothm (FRdk) 3= ()
AlES 5cm 100cm 5cm 100cm 5cm 100cm
BITE B 14:55 14:57 14:46 14:48 14:40 14:42
BIE & 0.096 0.088 0.090 0.099 0.067 0.079
AiT[El L -0.004 0.005 -0.002 0.016 0.005 0.009

o= At () FE5ih s (F) FEoih s (FERED)
AlES 5cm 100cm 5cm 100cm 5cm 100cm
BIE BRI 14:35 14:37 14:30 14:32 14:25 14:27
HBIE B 0.094 0.091 0.102 0.077 0.151 0.117
AirE L 0.005 0.018 0.001 -0.002 0.029 0.022

o= FE7i = (FEFREOQ) SE8tth = (T (IEFT)) FoME (T (EE))
AlES 5cm 100cm 5cm 100cm 5cm 100cm
HBIEBFZ 14:21 14:23 14:15 14:17 15:05 15:07
HBIE B 0.150 0.099 0.173 0.121 0.096 0.087
ATE L -0.004 0.002 0.004 0.000 0.001 0.012




Nt R — fREEVRRLSGEM BRI T ER B RERERR

H#FE . HORIBA PA—1000

HB{I: ySv/h

EER: FR28E3H8H ()

o= F 1= (k) Foh s (FRAL) FE3th = ()
AlES 5cm 100cm 5cm 100cm 5cm 100cm
BIERFZ 15:00 15:02 14:52 14:54 14:45 14:47
HBIE B 0.100 0.083 0.092 0.083 0.062 0.070
AiIE L 0.007 0.000 -0.003 -0.001 0.014 0.001

o= Fatth s (RFE) FE5ih s (F) Fothm (FAmED)
AlES 5cm 100cm 5cm 100cm 5cm 100cm
B E B ZI 14:39 14:41 14:33 14:35 14:28 14:30
BIE B 0.089 0.073 0.101 0.079 0.122 0.095
ATELE 0.010 0.003 0.007 0.013 -0.004 -0.007

o= F7ih = (FEFREOQ) SE8tth = (7 (IEFT)) FoMm (T (EE))
AlES 5cm 100cm 5cm 100cm 5cm 100cm
I TE BRI 14:25 14:27 14:18 14:20 15:10 15:12
RIEE 0.154 0.097 0.169 0.121 0.095 0.075
ATE e 0.002 -0.006 0.020 0.024 -0.006 0.014

AR — R REEYRRLSGEMIRRICE T ER B RERERR

#3%& - HORIBA PA—1000

B{I: uSv/h

EMEH: EH284E3A1H (X)

= F1ihE () g2t s (BR4k) FE3h s (3R)
BES 5cm 100cm 5cm 100cm 5cm 100cm
I % BF % 14:52 14:54 14:45 14:47 14:38 14:40
BITENE 0.093 0.083 0.095 0.084 0.048 0.069
ArEtE -0.003 -0.005 0.013 0.003 -0.009 0.005

= FEatth s (Rm) FE 5 (F) Foth s (FERED)
AES 5cm 100cm 5cm 100cm 5cm 100cm
BIERFZ 14:33 14:35 14:28 14:30 14:23 14:25
BIEE 0.079 0.070 0.094 0.066 0.126 0.102
AIEtE -0.017 -0.005 0.003 0.004 -0.012 0.005

#h = F7H = (FEREQ) S8t = (T (IEFT)) Lo (B (EE))
AlES 5cm 100cm 5cm 100cm 5cm 100cm
HBIE BRI 14:20 14:22 14:14 14:16 15:00 15:02
HBIEE 0.152 0.103 0.149 0.097 0.101 0.061
ATEEE 0.019 0.005 -0.007 0.002 0.014 -0.013
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